ot 2-NA 1//m oItk 13} m Abe] €] AglE 15¢m, BC = 16cm
o wj, AABC, AA’BC, AA”BC 2] Ho]9] H]=?

A A A I
|
15cm
|\
\
[ m
B~<16em-"C
D)1:1:1 @ 1:2:1 ®1:2:3
@ 2:1:2 ® 2:3:1

Al He] Aztg o) W, ole] Zojz} Zomz
AABC = AA’BC = AA”BC =

= 120(cm?)
. AMABC : AA’'BC : A AVBC=1:1:1




-2 a9o] HaAtHs ABCD & H I,
oS 7h = 2] ke A9

® CD = 10cm @ /ABD = 70°
® OD = 12cm @
@ADCB =120°

s
P
20
)

® (DCB=




DO °Jtt.

3 7o) Z7te) WA
@ /A =/D=90°
@ AABM = ADCM (SSS &%) ©]|B& /A = /D =90°

rlo

2 tzkgo] e,

ofll




4. oL I¥oA oABCD = Az o1, /EAD = 70°, AD = ED
g, 2x & 2717

@ 10° @ 15° 3@ 20° @25° ® 30°

OJABCD = ?ﬁx}ﬂﬁg o]E2 AD = CD = DE °]1 ADAE &
o] SHAIZIo| B2 /EDA = 180° — 70° — 70° = 40° o]t}




Oha 297 22 HPAlg ABCDOIA] AE : ED = 3 : 20|10
0ABCD = 60cm® & o, AABE 2] Ho]=?

1D D

D)18cm? @ 22cm? @ 26cm?

@ 30cm? ® 34cm?

B ~

B C

ABEC = ABDC = %DABCD = 30(cm?)

AABE + ACED = 0ABCD - ABEC = 60 — 30 = 30(cm?)
¥, AABE: ADCE =3:20]|B2

AABE — g x 30 = 18(cm?)




th-2 289 YA ABCD o] HAH
A A /D 9 1%%*& DF o W& s4o]

DF, BC ¢ 9= A2 Z42F G, E 2 ¢
o B=80°d W, x=]  ]°olth
[ Jiger

@ 45 (@)50 ® 55 @ 60 ® 65

ODABCD 7} HgAH ol B R
(A = /C, /B = /D =2_80° o|th,

D
(ADF = /CDF = Ly = 40° o)1,

(AGD = /FGE = 90°
oo Zx=180°—(90°+40°) =50°




e 104 oAPCD & ufERolth, AB = BCY 4, /BAD 9
3715 F-otofet

A

QD

@s1© @s9°  @oc @93 G 950

~&B

ACE 109

/DAC = (180° - 132°) + 2 =24°
/BAC = (180° - 60°) =2 = 60°
. /BAD = 60° 4 24° = 84°




th-2 oA Attke]E ABCD = AD//BC,A0:CO=1:29°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




9. thg Iy Zo] ZAZ4E ABCD 9 ZAH C7F Ao L X2 Qi)
(GAF =10° € o, /x=2?

A

@® 110° @ 115° ® 120° @ 125° @130°

S5 ~
(GAE = /GAF + /EAF = 90°, /BAF = /BAE + /EAF = 90°
old] /LEAF &= 350|2& /GAF = /BAE = 10°
w2bA AABE ]| A]

/AEB = 180° — (90° + 10°) = 80° ©]t}.

(FEC = (FEA (27},

LCEF + /FEA + /AEB = 180° 9|4 /FEC = 50°
oFDCE oA zx + 2 x 90° 4 50° = 360°

5 Lx = 130°




10. ©h& A42d ABCD A BDLFEY t), 424 FBED © £2]9)
Yol g Ftofa.

F/¢5Cm‘\\

@ 18ecm @)20ecm @ 22cm @ 24cm ® 26cm

B

AFBO = AFDO(SASSHs) o]l B2

FB =FD

AFOD = AEOB(ASARE)o|BEE2

FD = EB

ABEO = ADEO(SASE%) 0|2 &

EB =ED

w2tA FB = EB = ED = FD °]|2 & oFBED & ul=Xo|t},
wtebA] oFBED 9] =89] dol=

FB+BE+ED+DF =4x5=20(cm)




